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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Parl B

consists of 5 Units. Answer any one full question from each unit. Each question

carries 10 marks and may have a, b, c as sub questions.
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I .a) \\irite the problerns encountered in OSI reference tttodel.
b) What is the purpose of Llan-uning code?

c) \\ihat is repeater?
dt Define thin and tltick Etirernet.

0 Explain briefly about floodin-s. ' I I j 
.

g) What is crash recovery?
h) What are the disadvantages of IPr,4?
i) Give the HTTP message fomat.
j) What are the services offered by application layer?
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2.a) Explain various r.vired transmission media.
b) With a neat sketch, explain TCP reference model.

OR
3.a)

', b)

'4.a)
b)

olL
5.a) Explain pure Aloha and slotted Aloha.
b) Explain the frame forrnat of Ethernet.

i.r..

, , ,6.u) Write ttle concept,of di;tance vector,routing and
,' bt Dcscribcpacketsuitchinginderail.'

OR
7.a) Compare Virtual circuit and datagratn netlorks.
b) Give a brief note on approaches of congestion control.
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\Yrite a note on Go=Back=N
. ' i ,, , ' i .'
Desctibe' ALOH A protocol

protocol:, ; ,
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Describe packet fragmentation.
Explain dynamic host configuration protocol (DHCP).

transpoft laycr.
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establishrnent inconnectionhree u'ar"
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